GENERAL INTELLIGENCE |

L. Select the Ngure that will
come next in the following fig-
ure series.

LT
5
5 g @

2. Two statements are given,
followed by three Conclusions
numbered 1. Il and 111
Assuming the statements to be
true, even if they seem to be at
variance with commonly
known [acts, decide which of
the Conclusions logically
follow (s) from the statements.
Statements :

All drums are sticks.

Sume drums are boxes .

Conclusions :

L. Some boxes are sticks.

Il. Some sticks are drums.

HI. All sticks are drums.

(1) Only Conclusions Il and 11
fallow

(2) Only Conclusions | and [l
follow

(3) Only Conclusions | and LIl
follow,

(4] All the Conclusions |, I and

I follow.
3. Seect the option that depicts
how the given
sheet of paper would if
# is folded at the line.

wfl] =l
(3) {E_] 4 @J

4. Select the figure in which the
given figure is embedded.
(Rotation is not allowed)

5
A A
A A

B. Select the correct mirror image
of the given figure when the
mirror is placed to the right of
the figure.

Y
Bt o
i X

6. Which letter will replace the
question mark (?) in the
series?
XR?2LF.D.C
(g 2)M
BN “wo
7. In the given Venn diagram, the
circle represents ‘business-
men’, the triangle represents
‘landlords’ and the
e
The numbers given in the dia-
gram represent the number of

peraons in that particular tat
egory:

How many businessmen g,
tax payers but NOT landlordy;
()8 (2) 22
(317 (4] 19
8. Three of the following fo,,
letter-clusters are alike in ;
certaln way and one |4
different. Pick the odd one oy
(1) UVYCH  (2) JKNRV
(3) GHKOT  (4) PQTXC
9. In a code language, YOGHURT

is written as 251578211820
How will DEVELOP be written
as in that language?
{1) 45225111516
(2) 45215121516
(3] 45225121516
(4) 45225121515

10. Which letter-cluster will
replace the guestion mark (7
in the lollowing series?
FKP, HNT, JQX. LTB, ?
(1) MWF (2) NWG
(3) NXF (4) NWF

11, Three of the following four
words are alike In a certain way
and one s different. Pick the
odd word out.
(1) Inquire (2] Deliberate
(3) Explore  (4) Examine

12.°A + B' means ‘A is the sister
of B
‘A~ B’ means ‘A s the brother
of B
‘A x B means ‘A 1s the mother
of B
‘A + B' means ‘A is the father
of B
UViSxg-pP+T+RxU
then how (s R related to 57



(1) Urandson
(2) Daughter
(3) Grand-daughter
(4) Maternal grandmother

13. Select the missing number
from the options given below.
1117 8
16 36 4
15 23 %
(112 (2) 14
311 (4) 10

14. Select the word-pair in which
the two words are related in the
same way as are the two words
in the following word-pair.
Sultcase : Cloak Room
(1) Salary : Credit
(2] Money : Bank
{3) Chalr : Furniture
(4) Bag : Luggage

15. Three different positions of the
same dice are shown. Which
number will be on the face
opposite to the one having 2?

(1) 4 (2) 5
3 3 (4) &

16. Which number will replace the
question mark (?) in the
following series?

115, 7, 134, 145, 157, 170
(1) 124 (2) 122
(3) 125 (4) 127

17. Which two signs should be
{nterchanged to make the
following equation correct?
4x5-24+12+8=14
(1) + and + (2] + and x
(3) +and -  (4) x and +

18. Three of the following four
number-pairs are alike in a
certain way and one I8
different. Pick the number-pair
that is different from the rest.
(1)13:170 (2)11:120
(35:24 (4) 7:48

18, ‘Political Science’ is related to
‘Spcial Science’ in the same
way as ‘Chemistry’ is related

fOs e

(1) Equations
(2) Sclence
(3) Humanities
(4) Elements

20. Arrange the following words in
alogical and meaningful order.
1. Writing 2. Book
3. Seller 4, Idea
5, Feedback 6. Reader
14,1,2,3,6,5
(2)4,1,2,6,3,5
(3)4,1,3,6,5 2
(4)4,1,2.6,5 3

21. Select the missing number
from the options given below :

g 11 8

6 B 3

45 57 7

(1) 54 2) 55
3) 52 (4) 53

22, Select the option that s
related to the third number in
the same way as the second
number is related to the first
number.

9:90::12:7
(1) 160 (2) 150
(3) 156 (4) 152

23, How many triangles are present
in the following figure?

(1) 18 (2) 19
(3)20 f @17
24. The sum of the current ages of
Vishal and Armaan |s 70 years.
5 years ago, Vishal was twice
as old as Armaan. What s
Armaan's current age?
(1) 10years (2) 45 years
(3) 25 years (4] 20 years
28.In a code language, PERMA-
NENT is written as EPMR-
BENTN. How will TECHNICAL
be written as in that language?
(1) TEHCOCIAL
(2) ETCHOCILA
(3) ETHCPCILA
(4) ETHCOCILA
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26, Who s the author of the book
‘india Shastra: Reflections on
the Nation in our Time?

(1) Narendra Modl

(2) Shashi Tharoor
{3) Manmohan Singh
(4) A P J Abdul Kalam

27. Which of the following is the
highest mountain peak In
Maharashtra?

(1) Kalsubai Shikhar
(2) Anjaneri

(3) Salher

(4] Taramati

28. Who was the last ruler of the

Vaghela Dynasty of Gujarat

after whose defeat the kingdom

was passed to Alauddin Khilji?

(1) Arjuna Deva

(2) Saranga Dcva

(3) Karandev

(4) Rama

{5 well-known for the
golden beautification of the

Harmandir Sahib Gurdwara in

Amritsar, famously known as

the Golden Temple.

(1) Maha Singh

(2) Ranjit Singh

(3) Duleep Singh

{4) Charat Singh

30.'Dashain’ 1s the grandest
festival of i)

(1) Bangladesh
(2) Bhutan

(3) Sri Lanka
(4) Nepal

31. Which Indian badminton
player was runner-up at the
2019 Swiss Open tournament?
(1) Kidambi Srikanth
(2) Chetan Anand
(3) Sal Praneeth
(4) Parupalli Kashyap

32. Blue litmus paper tums ___
on contact with an acidic

solution.
(1) red (2) brown
(3) green (4) yellow

33. Name the tissue that trans-
ports food to various parts of
a plant.
(1) Parenchyma
(2} Xylem
(3) Phloem
(4) Sclerenchyma
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34, What ellect will 0 decroase n
demand and an Increase (n
supply have on equilibeiam
price’

(1) Bquilibeium price will fall

(2) Haguilibrium price will rise

(@) Egquilibrium price will be
conatant

() Sometimes price will vise
and somoetimes (L will fall

a8, Which of the following is

called the 'Popular Chmmber?

(1) State Assembly

(2) Rajya Sabha

() Lok Sabha

(4) Gram Sabhn

36, What is dominant chemical
present in detergent powder®
(1) Hydrochlorie ackd
[2) Sodium carbonate
) Calctam carbonate
[4) Sodium alkyl sulphate

37. A substantial Increase in
capital expenditure or revenue
deficit leads to _

(1] Budgetary Deficit
(2] Fiscal Deflcit

[4) Primary Deflcit
[4) Revenue Deflcit

38. Which of the following Indian
Mim-makers was given the ttle
of ‘Ambassador of Interlaken’
in 2011 al Switzerland?

(1) Yash Johar
(2) Raj Kapoor
(3] Subhash Ghai
(4) Yash Chopra

38. The term 'Dolphin Kick' is
assoctated with which sport?
(1) Football (2) Rughy
(3) Swimming (4) Cricket

40. Which article of the Constitu-
tion of India provides that
cach Indian state will have a
governor?

(1) Article 152
(2) Article 153
(3) Article 151
4) Article 154

41. Which Indian batsman was
the first to hit six consecutive
sixes in first-class crickel?
(1) Ravi Shastri
(2) Sunil Gavaskar
[3) Virat Kohl
[4) Sachin Tendulkar

42, In the year ., the Marathi
mpire connod (o exist Wi
the surrender of the Marathas
to the Dritish, ending the
Third Anglo:Maratha War,

(1) 1702 (&) 1811
() 1818 (4) 1806

49, What is the distinetive chars

acteristio of ‘marsuplala’?

(1) They lany egs

() They hibernate In winter

(3 They carry young ones in
pouchen

{4) They migrate (rom one place
o another

44, Which of the following coun-
tries (s the largest producer of
wheat in the world?

(1) Bangladesty

(2) Myanimar (Burimal
() Indin

4) China

48, To which of the following
Indian states does the tribe of
‘Nyishi' belong?

(1) Tamil Nadu

(2) Bihar

[3) Aranachal Pradesh
(4) Chhattisgarh

46. Rajal has hypermetropia.
What type of lens will the
ophthalmologist recommend
to correct his vision?

(1) Bifocal (2] Concave
[3) Progresaive (4] Convex

47. _____ has been established ns
the annual ‘International Day
of Happiness',

(1) 20th March
2] 318t March
[3) 15th January
(4) 23rd February

48. What was India's rank among
156 countries in the Global
Happiness Index 20197
(1) 140th 2) 124th
(3) 132nd [4) 137th

49. Which state of India has the
longest mainland coastline?
1) Gujarat (2) Odisha
(3) Kerala
(4) Maharashtra

BO. During World War 11, the
Battles of Kohima and Imphal

were fought in the year ___,
(1) 1945 (2) 1943
(3) 1942 (4) 1944

QUANTITATIVEAPTITUDE

L In AADC, P I8 i polnt on B
@ iuuhlhﬂ.['ﬂplmunlﬂw.
@ In the midpoint of BP, Th, |
aren (AADG) @ aren (AARBC) |,

aqual Lo
(1) 2:0 (215
[f)] 1:4 (4129

52, Two articles are sold for jy,
4,006 each, On one, the seller
Halne 18% and on the other e
loses 16%, What is his overy))
gain or lows per cenl (neares;
to one dectmal place)?

(1) 2. 1% loss  (2) 1.99% loss
(50 2. 1% gain (4) 1.9% gain
o, What s the value of x so thgy

the soven digit numbey
01870x2 18 divisible by 727
(1) 2 (2) 7

[ 5 (4]

B4, Ifa:b=2:d then (5a- 2b)
(B + 20) ¢ (Ga + 28) s equal

Lo
na:7 2)2:7
[31:3 4)1:4

4
Bo. Il cosl = B then [8in0 coso

+ cos40 sind) 1s equal to:

1) 5= 9) =
() 25 @) 125
L 82
@ 55 @ 55
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# (BO-00) § ‘The Tllowing tabla shaws e porcentage
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Bl ﬁ‘."g” | [ o - [ '
Bonunita J&"ﬂﬁ"ﬂ' ﬁ 2h...)
Mitlliginitica |40 aE 10
ulitd atiaenia [9.000 10, Tﬂ%ﬁ 11,000
g, Whisl ta Ui peraeninges of ﬂ.ﬂnrﬂudwwﬂlﬂﬂm
slatentan Feastnn (e dhinad ol cof by L%, A persan wints Lo
patbied it b foor oolloges A il (rioreinn L expenditure by T

O diben ot bisr, (neireal Lo
o deeinal ey
(yen 1) e
i8] i, 00 (4] ivin, S

o Wi tis e svvisrgtn nimiber of
atuidonis from e selenss
dimedplieie ol whl thie llegen
fahe Lot by
(1) i () ian
[GIMEFL [4) o4

a0 O ot of the bl stodenis
collegin wine, 1n repreasiiled by
i e, whial fs e central
abiplhet oo (hie meabonm po g eneniing
villoga 16 (o nearesl whols
pinbeee)?
(1) 0" [4) ¥6°
{5y Ao 14) "

mu e inber of stodenils from
the disclipling of KEconaimics
frowm college Y in approxinmeate
Iy whisl per cent of the num
Toer ool mlindenits from the disc
pline of Bolence frim e el
logge O
{16l () B
(1) 1443 (4) B8

00, Chiords A and €D of B elrele
Interaect wl m polnt P oinelde
the edrcla, IFAD = 10 o, AP =
A i and PC = B em, then C1
i el Lol
(1) 4.0 em () 0.8 em
(8) B0 e (4) 7.8 v

61 A traln withoul stoppage
trivvels with an averago speed
of 10 kin /b e with sloppage,
11 Eraavish wilhy an wverags specd
af 084 km/h, For how many
minules dogs the traln stop

un an average per hour'?
(1) 1 (%) B
() 10 L) 14

anly, By whal peroentage,
varraot (o one dectmal placs,
should he reducs  his
aeiiinpliony

(1 3 1% (2] 19,

{43) 19,0 4) 1%

6, An article in nold for Ha, BAT.AO
witer wucoesaive discoiints of
A0 mnd 1 0%, What is the
marked price of the ariicle?
(1) Fa, (20 (2) Ha, 060
(1) Pim, 60 (4) Fa, D40

4, Find the valie of §

N R I

14
(1) .4 (@) =1.2
[HI (4) ~4.2

a6, Find the difference between the
comngEAind interest and alimple
Interesl on Ha, x ol 153% per
wnnum lor 2 year s s, 43,20,
‘What is Lhe value of X7
(1) 4,406 () 800
(18) 3, 0000 (4) 2,000

04, If {ea + 1A = 6 and ab = B, then
(e + 1) s equal fo:
(1 11H (2) 108
{3 144 (4) 72

0710 a4 by om B and b+ be + ca
w 13, then o + 10 + &' = Babe is
el Loy

() 1 2) 126
[HIRIL] [4) 108
o0, T shiie o BIAE o

+CThe value of condn® * sind 60"
- vond AG® + nec B0 is cqual
(0]

.I -!-a- L -I-l.-

! 1 12) A
i 7
) 7 (4 7

84, In & class of 60 stidenia, A0S
wre @irla, The aversge welghit of
{he turyn ia 0 b wnd That ol
ih girta ia 6 ki What is the
wrrags waight of thes wrhide
tlana’t

1) F60 2 beif () 58,5 el
(9] 10 Wi (4) B8 kg

70, In 1 circke with centre O, Al 18
& diametar and GO 1s @ chord
sugh that ABCD Is &
{rmpeiii, I £ IAL = 287, hen
LCAL is eeual Lo
(1) 347 () 2
(i5) o™ 14) 38

71, A bn B0 more efficient than 1
and € s A% lesa elllcient
than 13, Working Logether, they
can comnghete o Lask in 20 days,
111 hiarw narry days will © alone
complete 0% of that Laak?
(1) a1 ) B3
(3) 85 (4) 20

1 =
PR RLE 7yt W2 | phen

3,1 J
X ¥ eopuaal bog
{ ) ineq I tex

(1) 34 (2) B4
(5) 346 (4) 32

78, The radil of the two circular
fuces of the frustum of & cone
of helght 21 cm are B o and 3
cm. What 18 its volume in cr?

]
['I'ahl: A= HJ
7

(1) 107vE (2) 1020
() 1056 (4) 1025
74, If tan A0 = cot(40* = 20), then
In equal to;
(1) 20 (2) 257
(3) a6* (4) 30°

78, AABC ~ ARQP and PQ = 10cm,
QH = 12 cmoand RP = 16 cm. I
]
ar (APQH) @ ar [AABC) = -,
then BC Is equal to:

20 a2
lll?cm wl?cm

() B em [4) B em
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74, Beboot the word which means
Ui maarnier g e gros o of worele
Hiven,

A stale of perfect balance

(1) equiitirium

[2) equiliaieral

{9 equivalent

(A1 equinox

77 Glven below are four jumbled
senlenoes, Select the aption
that gives thelr correct urder,
Ao Bo, | had thoughts of

sotling wup an Indian
rostaurant there with my
wile's mupprt,

B It took us two months (o
redesign the pluce (o suit
our needs,

« One of the things | really
mnaed when | sel up horme
In Maryland, was o restau
rant that served nuthentic
Inehian food,

D 1 deaided to pursue ihis
lden sertously and boughi
un old butlding in the
downlown,

(1) eann (2) BEDA

() CHAL (1) DACH

78. Select the most appropriate
meaning of the idiom printed

In Bold in the given sentence,

Many people join politics to

foather thelr own nest,

(1) merve their country

(2) utilize black moncy

(3) promote thelr own interest

(4) make others’ life comfort-

" able ¢

70, Select the correct passive form

of the given sentence,

Crodil cards are replacing cash

Lransactions,

(1) Cash transactions are belng
replaced by credit cards,

(2) Canh transactions have
been replaced by eredit

",

{8) Cash transactions are

replaced by credit cards,

{4) Cash transactions had been

replaced by credit cards,

80, Select the most approprigte
aption to Nl in the blank.

Iwat ____ my life as nothing
sgemed Lo be working for me,

x

 Warar e
(1) blessing  (4) oursing
(3) trvoking  (4) tormenting
B1. Select the mosl

antanym of the given word.
FOREIGN
1) native  (2) rural

190 Indian (4) rustic

82, Select the most ap
option (o substitute the bold
wegiment in the given senience.
Il o substtuiion is required,

* melect No improvernent.

Inhwarchand Vidyasagar use

the anclent text to sugges-

ton that widows could rermar
1Y,

(1) used the anclent lexts o
LT T

2] No improvement

(3] use the ancient Lexis for
nupEeslion

(4) used Lhe ancient texts sug
Henls

B, Select the correct active form
of the given senlence.

We werg given very little Ume

Lo prepare Lthe presentation.

(1) They have given us very lit
the time to prepare the pre
nentation.,

(2) They glve us very little tme
lo prepare the presenta-
ton,

(3) They will give us very little
lme to prepare the presen-
Lation.

[4) They gave us very little time
lo prepare the presenta-
tan,

84, Select the most appropriate
meaning of the Idlom printed
in bold in the given senlence.
The man heaved a sigh of reliel
when he was sure he wis out
of the woods,

(1) out of danger

(2) out of the forest

(3) discharged from hospital

(4) released from prison

88, Sclect the most appropriate

synonym of the given word,
DEVOUT .

(1) plous (2) revered

(3) loyal (4) respectable

[2) rarefieq
(4] intenafie

{1) elevated
3] exalied
88, Belect the mosl approgei,,
synonym of the given weeq
RENOWN
(1] comeeil
3 eltmcurity

(2] wimcioy

[4) Carne

B9, Belect the correctly spein wep.
(1) exhilarate [Z] exilara-

i3) exileraie [4)

0. In the sentence |
scgment which caniy
grammalical error
Nt complying by any of e
lawes can land you into ser
Lrosalale
(1) inio sericus Urouble
(2) any of the laws
(3) ean land you
(4) Not complying bry

21. Select the word which means
the same as Lhe group of words
given
One who walks in sleep
(1) somnambulist
12) philanthropist
[3) ompipotent
(4) pedestrian

02. Sclect the most appropriate
oplion o substitute the bold
scgmenit in the given sentence
If no substitution is required
select No improvement
I have not saw him since [ last
leave the town.

(1) seen him since | last left
(2) No improvement

(3) see him sinee | Last left
(4) seen him for 1 last left

93, Given below are four jumbled
sentences. Select the option
that gives their correct order.
A. Lyrics help in creating 3

distinctive narrative, some
conventions of which have

carried over from the
lalkies cra.

R —




- establishing an emotional
chord with the listeners,
. In popular Indian cinema,
lyﬂt:suetnnnul:mmn
- heart is to the body.
© (1] ABCD [2) DCBA
(3) DACB (4) ADBC
g4. Select the most appropriate
antonym of the given word.
ASCENT
(1) descent (2] depression
(3) distant  (4) decent
Directions (85-89) : In the
following passage some words have
peen deleted. Fill in the blanks with
the help of the alternatives given.
Select the most appropriate option
for each blank.
English is not a language that
— inIndia. But it is used

extensively in(86)  country.
India comes second on the list of
countries [97] ____ most English

speakers, albeit not as the first
language. English is more (88)
than any single Indian language! It
has managed to(88)  the entire
world.
5. (1) created = (2) developed
[3)derived (4] originated
95. (1) the (2) an
(3) a (4) one
87. (1) from (2) among
(3) by (4) with
98. (1) prevalent
(2) frequented
[3) comprehensive
(4) extended
99. (1) saturate  (2) invade
{3) persuade  (4) pervade
100.1n the sentence identily the
segment which contains gram-
matical error.
Raja Ravi Varma was one of the
first artist who tried to create
a style that was both modern
and traditional.
(1) Raja Ravi Varma was
(2) both modern and tradi-
tional.
.(3) to create a style that was
(4) one of the first artist
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